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Q1. Which statement is true? Circle your answer.
Lo
10%Sof 50 = 50% of 20

' [
10% of 10 = % of 20

A
10% of 20 = 20% of 10
10% of 40 = 25% of 100
[1]

Q2. Factorise X2 = y? @Gw@ij) W% [1]

Q3. Adam and six other men ran a race.
The times, in seconds, of the six other men are shown.
9.75 9.79 9.80 9.88 9.94 9.98

The mean time for all seven men was 9.83 seconds.

Did Adam win the race? numie) é 3
You must show your working. B3xq -68 2|
639 sq-1y G 63x

Qacmshme = 68-8L-sa-l4
= Q.67 [3]
he coon a6 ca-1s
Q4. (a) Factorise fully 9a2 - 6a

3o (3a - Z) [2]
(b) Solve x? - 12x + 20 =0
é‘”"@)@c'2> -0 o = 1O 202 -

;”“
‘/‘

Q5. Work out the value of x. Give your answer to 1 decimal place. E—

A accurately
XK—/ C H//PA/ SO~ ﬁ y
Q— [2] A X

el Q&CDSSO
ac = 26

Q6. The pressure at sea level is 101 325 Pascals. Any rise of 1 km above sea level decreases the
pressure by 14% For example,

at 3 km above sea level the pressure is 14% less than at 2 km Lfloqi_o__‘aea[&_fﬂ
Work out the pressure at 4 km above sea level.
ve% | (G W

Give your answer to 2 significant figures.

lb = o325 x0 86 = &I1L3A-S

m -8F12A-5 O 8L = ebC -
GL I0L325 x O '8‘6‘*”-'—' 550425 6 Mascals [4]
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Q7. In 1999 the minimum wage for adults was £3.60 per hour. &E-D) - 2606
In 2013 it was £6.31 per hour. 22-31

Work out the percentage increase in the minimum wage.

3\
hange 160 2.3l <160

0“8';"09' 560 1628 o3

Q8. Expand and simplify (y - 5)(y - 2) 52- —Za -55 t LO
g*-ly-to
[2]

Q9. Translate the triangle so that point A moves to point B.

NN

[1]
Q10. (a) Complete the table of values fory = x? — x — 2

X 2 1 0 1 2 3
! L[, oS 2 2 o 4

[2 marks]
(b) Draw the graph of y = x? — x — 2 for values of x from —2 to 3
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[2 marks]

Q11. Describe fully the single transformation that maps triangle A to triangle B.
YA /

o1
9 / Ealwge.mm.t
° ’ Scote fuckr 5
117 @nbe (0.0)

H"

[3]
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Q12. Mel invests £6000 at a compound interest rate of 1.5% per year. 1 -O1S
She wants to earn more than £1000 interest.
Work out the least time, in whole years, that this will take.

L0
l-
| uf OB R L-OLS = 6090 X /?I%rs 60600 % O-léq X
%«s 5000 x LOLEE: L6181 X dfs 600G COLS" &5

':?668' [3 marks]
Q13. A cube has edges of length 0.8 metres.

Ligpaas

|
|
}
|
i 08m 8OCrn
|
/1_ ______ = on
¥ 08m
08m O

Work out its volume in cubic centimetres.

E06x80x8D
512,000 2]

Q14 Solve 12x = 3 =3 |
Circle your answer. (WA &

-
-

[1]

X = -9 XxX=4 x =36
Q15. A line has the equation y=4x — 5
a) What is the gradient of the line? Circle your answer.
[1]
-5 -4 5

b) What is the y-intercept of the line? Circle your answer.

[1]

Q16. Make t the subject of the formula w = 3t + 11

w-\lL - 3k

& = - \\ 2]
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Q17. Toilet rolls come in packs of 4 and 9

Our Brand
ot 0 2-a9. =9
-8Q, 2 0 | | | - Lo-wu?d
£6:4323  [Toiet rolis __Toilet rolls
£1.89 £3.99

Which pack is better value?

You must show your working. m
%m Lo Letdw

[3]
Q18. Write 98 as a product of its prime factors
[1]

Q19. How long is side AB?

Not drawn 6 L‘\) 87-

accurately

5cm Zé’féh— = Bq

8cm

Tick a box.

Between 5 cm and 8 cm 8 cm

'
Between 8 cm and 13 cm \/ More than 13 cm

[1]
Q20. A drink is mixed in the ratio

lemonade : orange : cranberry =6 :3: 2 6+13c2 =11
What fraction is orange? 2
H —
Circle your answer. Lt

[1]

0| w
[
[N
[y
[N
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Q21. Three boxes contain counters.

Box A —$ Box B X« Box C = &2

(Qa 28

There are 62 counters in total.
The total number of counters in box A and box B is 34
The difference between the number of counters in box A and box C is 9

Work out the number of counters in each box.

ARcb+C =62

Aeg = Sl

3L\:+C = 62
C = 29

Box A cqr Box B ls Box (,28 [3]

C-A - 28-A:= 19
s, A= 19
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